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Problem quickname: 5139

1)

Calculate the result.

a)8-3+6-3= b)15:-6+5:-6= c)b-7T+14-7=
d)2-246-2= e)9:-6—-9-6= f)15-8—-14-8 =
g)10-8—-5-8= h)12-3-3-3 = i)15-6—-11-6 =
j)2-8+11-8=

2)

Calculate the result.

a)d-7T+8-7= b)6-947-9= c)d-44+4-4=
d)11-9+4.9= e)7-247-2= f)7-44+8-4=
g)6-242-2= h)3-747-7= i)8:64+5-6= j)2-942-9=

3)

Calculate the result.

a)7-7T+3-7= b)7-5—6-5= c)4-244-2=

d)9-4—-9-4= e)6-8—4-8= )4.-7—-4.7=

g)9-5—-5-5= h)3-74+5-7T= )8 7T—-2-7T= j)o-5b+5-5=

n

Calculate the result.

a)16-7—13-7 = b)5-846-8= )4-T+T-T=
A)7-9-3.9= e)17-9—-12.9 = £)12-4—11-4=
g)5-5+5-5= h)12-4—8-4= 0)2.-8417-8=
D14-7—4-7=

Good Luck!

www.dw-math.com Page ]. smp-5139-2/NZI1J



